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QUESTION 28 
Refer to the exhibit. 
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Which NAT type must the NSX-T Data Center administrator create on the Tier-0 or Tier-1 Gateway to allow Web VM to 
initiate communication with public networks? 

 
A. SNAT 

B. Reverse NAT 

C. DNAT 

D. 1:1 NAT 

 
Correct Answer: A 
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QUESTION 29 
How does Traceflow tool identify issues in a network? 

A. Compares intended network state in the control plane with Tunnel End Point (TEP) keepalives in the data 
plane. 

B. Compares the management plane configuration states containing control plane traffic and error reporting 
from transport node agents. 

C. Injects synthetic traffic into the data plane and observes the results in the control plane. 

D. Injects ICMP traffic into the data plane and observes the results in the control plane. 

 
Correct Answer: C 
 
QUESTION 30 
Which statement is true about an alarm in a Suppressed state? 

 
A. An alarm can be suppressed for a specific duration in days. 

B. An alarm can be suppressed for a specific duration in minutes. 

C. An alarm can be suppressed for a specific duration in seconds. 

D. An alarm can be suppressed for a specific duration in hours. 

 
Correct Answer: A 
 
QUESTION 31 
A customer has a network where BGP has been enabled and the BGP neighbor is configured on the Tier- 0 Gateway. 
A NSX-T Data Center administrator used the get logical-routers command to retrieve this information: 
 

 

Which two commands must be executed to check BGP neighbor status? (Choose two.) 

 
A. vrf 3 

B. vrf 1 

C. vrf 4 

D. sa-nsxedge-01(tier1_sr)> get bgp neighbor 

E. sa-nsxedge-01(tier0_sr)> get bgp neighbor 

F. sa-nsxedge-01(tier0_dr)> get bgp neighbor 
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Correct Answer: AE 
 
QUESTION 32 
Which two BGP configuration parameters can be configured in the VRF Lite gateways? (Choose two.) 

A. Route Aggregation 

B. Route Distribution 

C. Graceful Restart 

D. BGP Neighbors 

E. Local AS 

 
Correct Answer: BD 
 
QUESTION 33 
An NSX administrator is troubleshooting a connectivity issue with virtual machines running on an ESXi transport node. 
 

Which feature in the NSX UI shows the mapping between the virtual NIC and the host's physical adapter? 

 
A. Switch Visualization 

B. Port Mirroring 

C. Activity Monitoring 

D. IPFIX 

 
Correct Answer: A 
 
QUESTION 34 
Which two logical router components span across all transport nodes? (Choose two.) 

 
A. DISTRIBUTED_ROUTER_TIER0 

B. SERVICE_ROUTER_TIER0 

C. TIER0_DISTRIBUTED_ROUTER 

D. DISTRIBUTED_ROUTER_TIER1 

E. SERVICE_ROUTER_TIER1 

 
Correct Answer: AD 
 

QUESTION 35 
Which step must be performed before deploying an additional NSX Manager from the NSX-T UI? 

 
A. Prepare the ESXi hosts as Transport Nodes. 

B. Configure the Virtual IP of the cluster. 

C. Register vCenter Server as a Compute Manager. 

D. Create an Edge Cluster. 

 
Correct Answer: C 
 
QUESTION 36 
Which three functions require a Services Router (SR) component on an Edge node? (Choose three.) 

 
A. Service Insertion 

B. Distributed Routing 

C. Packet Forwarding 

D. Gateway Firewall 

E. Distributed Firewall 

https://www.braindump2go.com/
https://www.braindump2go.com/
https://www.braindump2go.com/2v0-41-20.html
https://www.braindump2go.com/2v0-41-20.html
https://www.braindump2go.com/2v0-41-20.html
https://www.braindump2go.com/2v0-41-20.html
https://www.braindump2go.com/2v0-41-20.html
https://www.braindump2go.com/


              Braindump2go  Guarantee All Exams 100% Pass              

One Time! 

 2V0-41.20 Exam Dumps  2V0-41.20 Exam Questions   2V0-41.20 PDF Dumps   2V0-41.20 VCE Dumps 

https://www.braindump2go.com/2v0-41-20.html 

F. Virtual Private Network 

 
Correct Answer: ADF 
 
QUESTION 37 
Which NSX CLI command is used to check the GENEVE tunnel status on ESXi transport node? 

A. get host-switch <Host-Switch-Name> tunnels 

B. get transport-node tunnel status 

C. get host-switch <Host-Switch-Name> tunnel status 

D. get transport-node tunnel state 

 

Correct Answer: A 
 
QUESTION 38 
What are two valid options when configuring the scope of a distributed firewall rule? (Choose two.) 

 
A. Segment Port 

B. Group 

C. Segment 

D. DFW 

E. Tier-1 Gateway 

 
Correct Answer: BD 
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